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The rational number not lying between 3 and 2 is
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The number (1 + \/5)2 is

(A) natural number (B) irrational nnmber
(C) rational number (D) integer

The simplest form of \/@ is

(4)104/60 (B)100:6

(C)2043 (D)10v6

4
Find four rational numbers between ;and;

36
100

Writ the following in decimal form (i)

111

[1]

[2]

[2]




image3.png
10.
11.

12.
13.

Express 2.4178 in the form %

Multiply x/gby %
1

4+243

Visualize the representation of 5.37 on the no. line 3 decimal places

Rationalize the denominator of

Shone that 5+/2 is not rational number
Simplify 33250 +73/16 —43/54

2+4/5 27\/5
Simplify —=+-—~
implify 27\/5 2+\/§
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